
General Instructions:

There are 8 questions in the question paper. All questions are compulsory.
Qn.
No

Marks
allocated

1. Choose the correct option:
Development of a country can generally be determined
by_____________.
(a)its per capita income                  (b)its average literacy level
(c)health status of its people           (d)All of the above

1

2. Who among the following formed the secret society called “Young
Italy‟.
(a) Otto von Bismarck                    (b) Giuseppe Mazzini
(c) Metternich                                (d) Johann Gottfried Herder

1

3. Which of the following countries is an example of “coming
together federation”?
(a) U.S.A                                       (b) India
(c) Spain                                       (d) Belgium

1

4. ________ has largest area under permanent forest, constituting
75% of its total forest area.

(a) Orissa (c) Madhya Pradesh
(b) Chhattisgarh                        (d) Assam

1

5. Explain the developmental goals of different categories of
persons mentioned below:

a) Landless rural labourers.
b) A girl from a rich urban family.
c) Urban unemployed youth.
d) Farmers who depend only on rain for growing crops.

1 X 4 = 4

6. Distinguish between ‘coming together federation’ and ‘holding
together federations’ with examples. India comes under which
type of federation?

4

7. Discuss the various measures taken for the conservation of forest
at the community level.

4

8. Explain any four changes brought about in Europe by the Treaty
of Vienna (1815)

4

THE END
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